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Seat No.: ________                                                           Enrolment No.___________ 
GUJARAT TECHNOLOGICAL UNIVERSITY 

Diploma Engineering C to D Bridge Course Examination – WINTER 2013 
Subject Code: C300006 Date: 21-12-2013        
Subject Name: Engineering Chemistry (Group-2 ) 
Time: 02:30 pm - 04:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions.  
2. Make suitable assumptions wherever necessary. 
3. Each Question is of 1 Mark. 
4. English version is considered to be Authentic. 
5. Use of Simple Calculator is permissible. (Scientific / Higher Version not allowed). 

 
No. Question Text and Option 

1. 

The bond formed by the transfer of electron from one atom to the other atom is known 
as ------------------. 
A. Ionic bond B. Covalent bond 
C. Metallic bond D. H-bond 

2. 
The Crystal lattice arrangement of Fe is --------------   type. 
A. FCC B. BCC 
C. HCP D. CCP 

3. 
From the following which is not a property of metal? 
A. Conductivity  B. Solubility in water  
C. Ductility D. Lustre 

4. 
Electrical conductivity of metals are due to -----------------. 
A. Kernels B. Free electrons 
C. Protons  D. Neutrons 

5. 

A substance which changes the rate of the reaction without itself taking part in reaction 
is known as ---------------------. 
A. Catalysis  B. Reactant 
C. Catalyst D. Product 

6. 
The substance which destroy the efficiency of a catalyst is known as ----------------. 
A. Catalytic inhibitor B. Auto catalyst 
C. Catalytic promoter  D. Positive Catalyst 

7. 
Water accumulates in cells of animals and plants due to -------------------   bond. 
A. Ionic bond B. Covalent bond  
C. Co-ordinate bond D. H-bond 

8. 
Diamond is an example of -------------------- type of solids. 
A. Metallic B. Ionic 
C. Network D. Molecular 

9. 
PH of pure water at 250C is ------------------------------. 
A. 0 B. 14 
C. 7 D. 4 

10. 
The value of Kw at 250C is ------------------------. 
A. 1 x 10 -14 B. 1 x 10 -7 
C. 1 x 10 7 D. 1 x 10 14 

11. 
The value of pH of 0.001M HCl solution will be ---------------------------. 
A. 1 B. 3 
C. 2 D. 4 

12. 
Buffer solution is the solution which --------------------------- the PH. 
A. Increases  B. Decreases 
C. Resists to change  D. None of the above 

13. The reaction occurring in electrochemical cell ----------------------------. 
A. Oxidation  B. Reduction 
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C. Neutralisation D. Redox 

14. 
The potential of standard hydrogen electrode is taken as --------------- volts at 250c. 
A. 1 B. 0 
C. 1.5 D. 2 

15. 
By increasing the temperature of the solution ionisation ------------------------. 
A. Increases B. Decreases  
C. No change D. Becomes zero 

16. 

The device which converts ----------------------- energy into electrical energy is called 
electrochemical cell. 
A. Mechanical B. Atomic 
C. Chemical D. Solar 

17. 
The standard conditions of temperature and pressure for electrochemical cell are----. 
A. 1 atm, 250C B. 25 atm, 10C 
C. 0 atm,  00C D. 10 atm, 500C 

18. 

In electrotyping process ------------- powder is sprayed on the wax block to make it a 
conductor. 
A. Diamond  B. Platinum 
C. Silver D. Graphite 

19. 
The unit of conductance is ------------------. 
A. ohm B. ohm cm-1 
C. mho D. ohm-1 cm 

20. 
Which of the following is not an application of electrolysis? 
A. Electroplating  B. Electrorefining 
C. Electrotyping D. Spray painting 

21. 
The type of corrosion taking place in stagnant steel water tank is ----------- corrosion.  
A. Crevice  B. Waterline 
C. Pitting D. None of the above 

22. 
Corrosion of metal is more in ---------------------. 
A. Acidic medium B. Basic medium 
C. Neutral  D. Medium does not affect  

23. 
Galvanising is the process of coating --------------- metal over the other metal. 
A. Sn B. Sb 
C. Ag D. Zn 

24. 

Binding firmly a homogeneous layer of a coating metal to the base metal on one or 
both the  sides is known as ---------------------------. 
A. Metal spraying B. Sheradizing  
C. Galvanising  D. Metal cladding 

25. 
Which of the following is not a factor affecting the rate of corrosion? 
A. Moisture  B. Pressure 
C. Temperature  D. pH 

26. 
Crevice corrosion mainly occurs at -------------------------. 
A. Junction of two metals  B. Water contact 
C. Acid contacts D. None of the above 

27. 
Which of the following metal is used as sacrificial anode? 
A. Zn B. Fe 
C. Ag D. Au 

28. 
The corrosion protection method useful in case of buried structure is----------------. 
A. Electrolytic method B. Sacrificial anodic protection 
C. Non metallic coating  D. Electroplating 

29. 
From the following which is an example for primary fuel? 
A. Crude oil B. Coal gas  
C. Diesel  D. Charcoal 

30. 
From the following which is an example for secondary fuel? 
A. Wood B. Crude oil 
C. Natural gas D. Kerosene 
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31. 

The amount of heat required to raise the temperature of one gram of water through one 
degree centigrade is called ------------------------. 
A. Calorie B. Kilocalorie 
C. British thermal unit D. Centigrade heat unit 

32. 
Bomb calorimeter is used for determining the calorific value of which type of fuel. 
A. Gas  B. Liquid  
C. Mixture of solid and liquid D. Mixture of gas and liquid 

33. 
The formula for calculating the gross calorific value of the fuel is -------------------. 
A. Q=(W+w) (T1-T2)/m B. Q=(W+w) (T2-T1)/n 
C. Q=(W+w) (T2-T1)/m D. Q=(W+w) (T1-T2)/n 

34. 
Which is the first stage of the coalification of wood? 
A. Peat B. Lignite 
C. Bituminous  coal D. Anthracite 

35. 
Which is the highest rank coal? 
A. Peat B. Lignite 
C. Bituminous  coal D. Anthracite 

36. 
Higher proportion of which of the elements is desirable for good quality coal? 
A. H B. O 
C. S D. N 

37. 
Which method is used for the refining of petroleum? 
A. Crystallisation B. Distillation 
C. Fraction distillation D. Filteration 

38. 
What is the percentage of alcohol used in the blend fuel? 
A. 10-15% B. 20-25% 
C. 25-30% D. 30-35% 

39. 
Which of the following substance is mixed with LPG to get the odour to it? 
A. n-butane  B. Propane  
C. Butylene  D. Mercaptans 

40. 
Which of the following gas is giving zero emission properly? 
A. O2 B. Cl2 
C. H2 D. N2 

41. 
Lubricants are used to reduce the --------------resistance between two moving surfaces. 
A. Thermal B. Electrical 
C. Frictional D. Rotational 

42. 
From the following which is not a function of lubricant? 
A. Reduce wear and tear B. Reduce the impact  
C. Act as coolant  D. Increases corrosion 

43. 
In which of the following instrument fluid film lubrication is applicable? 
A. Sewing machine B. Gears 
C. Cutting tools D. Heavy loads 

44. 
Which type of lubricants can be used for railway track joints? 
A. Solid B. Liquid 
C. Semisolid D. Synthetic

45. 
In which of the following instruments low viscosity lubricant can be used? 
A. Lathes  B. Concrete mixtures  
C. Watches D. Rail track joints 

46. 
The temperature at which the liquid no longer flow on cooling is called ------------. 
A. Fire point B. Flash point  
C. Cloud point  D. Pour point 

47. 

Saponification number is the number of milligrams of -------------  required to sponify 
fatty material present in 1 gm of the oil. 
A. NaOH B. KOH 
C. HCl D. HNO3 

48. What is the unit of viscosity? 
A. gm/litre B. kg/litre  
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C. Poise D. ml 

49. 
The trade name of phenol formaldehyde is ------------------. 
A. Polystyrene B. Bakelite  
C. Epoxy resin D. Orlon 

50. 
Which polymer is used in making audio cassettes? 
A. Polyethylene  B. PVC 
C. Polystyrene D. Orlon 

51. 
From the following which is the example for addition polymer? 
A. Polyester B. Bakelite  
C. Melamine D. Polyethylene 

52. 

From the following which is a quality for thermoplastic? 
A. Soften on heating and harden on 

cooling 
B. Do not soften on heating 

C. Formed by condensation 
polymerisation 

D. Insoluble in organic solvents 

53. 

From the following which is not an example for solar cell? 
A. Nickel-cadmium cell B. Gallium arsenide cell 
C. Silicon cell D. Cadmium sulphide-copper sulphide 

cell  

54. 
Polymer used for coating of frying pan is ------------------------. 
A. Polystyrene B. Teflon 
C. Polyethylene D. Polyester 

55. 
The commercial name of epoxy resin is --------------------. 
A. Fevicol B. Thermocol 
C. Araldite D. Rubber 

56. 
The monomer unit present in natural rubber is ------------------------. 
A. Neoprene B. Isoprene 
C. Butane D. Styrene 

57. 
Which chemical is added to rubber in vulcanisation process? 
A. N B. O 
C. P D. S 

58. 
Thermocol is a foamed plastic obtained by blowing air through molten ------------------. 
A. Polystyrene B. Polyethylene 
C. Polyester D. Polyvinylchloride 

59. 
The substances having extremely low thermal conductivity are called ------------------. 
A. Insulating material B. Adhesives 
C. Conductors  D. Semiconductors 

60. 
From the following which is an example for elastomer? 
A. Polyester B. Bakelite 
C. Melamine D. Buna-S 

61. 
Rubber is formed by ----------------- type of reaction. 
A. Addition B. Condensation 
C. Neutralisation D. Esterification 

62. 
The plastic which is used in making sweaters is ------------------------. 
A. Orlon B. Bakelite 
C. Melamine D. Epoxyresin 

63. 
From the following which is an example for condensation polymer? 
A. Rubber B. PVC 
C. PTFE D. Nylon 66 

64. 
Which is an example for primary cell? 
A. Ni-Cd cell B. Lead storage cell 
C. Dry cell D. Fuel cell 

65. 
Which is the anode part of dry cell? 
A. Zn B. MnO2 
C. Graphite D. NH4Cl 
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66. 
The electrolyte used in lead storage cell is ---------------------. 
A. HCl B. HNO3 
C. NaOH D. H2SO4 

67. 
The potential obtained from dry cell is --------------------------. 
A. 2 B. 1.5 
C. 1.4 D. 1 

68. 
The cell which is prepared from semiconductor is -----------------------------. 
A. Fuel cell B. Dry cell 
C. Ni-Cd cell D. Solar cell 

69. 
How much is the efficiency of fuel cell? 
A. 30-35% B. 50-55% 
C. 70-75% D. 90-95% 

70. 
Which substance is undergoing oxidation in fuel cell?  
A. O2 B. H2 
C. NaOH D. Pt 

************** 
ન.ં ̆ĕ તેમજ િવકƣપ 

1. 

પરમાȰઓુમા ંઈલƈ˼ોન Ȥમુાવીને અથવા મેળવીને Ȑ બધંȵુ ંિનમા½ણ કર° છે તે બધંને ______ 

કહ° છે .     

A.  આયોિનક બધં B. સહસયંોજક બધં 

C. ધા�Ɨવક બધં D.  હાઈ˾ોજન બધં 

2. 
Fe ના ંƨફ�ટકમા ંપરમાȰઓુની રચના _______ ̆કારની હોય છે.    
A. FCC B. BCC 
C. HCP D. CCP 

3. 

નીચે જણાવેલ ȤણુધમҴ પૈક� કયો Ȥણુધમ½ ધાȱ ુધરાવȱ ુનથી .    

A.  વાહકતા  B. પાણીમા ં̃ƥયતા  

C. તƛયતા  D.  ચળકાટ  

4. 

ધાȱમુા ં િવɎતુ વાહકતા ___ ને કારણે હોયછે .  

A.  કન½લ  B. Ⱥƈુત ઈલƈ˼ોન 

C. ̆ોટોન  D.  ƛȻુ˼ ોન  

5. 

એવો પદાથ½ ક° Ȑ ̆�˲યામા ંભાગ લીધા વગર ̆�˲યાના ંદરમા ંફ°રફાર કર° છે તે પદાથ½ ને ___ 

કહ° છે .   

A.  ઉદ�પન   B. ̆�˲યક  

C. ઉદ�પક D.  િનપજ  

6. 

એવો પદાથ½ ક° Ȑ ઉદ�પક ની �˲યાશીલતા નો નાશ કર° છે તેવા પદાથ½ ને ____ કહ° છે.   

A.  ઉદ�પક િવષ  B. ƨવયમં ઉદ�પક 

C. ઉદ�પક ઉતેજક  D.  ધન ઉદ�પક  

7. 

̆ાણી અને વનƨપિતના ંકોષમા ંપાણીનો સં˴ હ ___ બધંને કારણે થાયછે .   

A.  આયોિનક બધં B. સહસયંોજક બધં 

C. સવગ½ સહસયંોજક બધં D.  હાઈ˾ોજન બધં 

8. 

�હરો એ    ____ ̆કારનો ધન છે .  

A.  ધાƗવીય  B. આયોિનક 

C. Ĥળ�દાર  D.  આણવીય  
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9. 

250c તાપમાને Ƀƚુધપાણીની  pH ___  250C તાપમાને Ƀƚુધ પાણીની  pH -------  

હોયછે.  

A.  0 B. 14 

C. 7 D.  4 

10. 
250c તાપમાને  Kw   ȵુ ંȺƣૂય ______ 250C તાપમાને Kw ȵુ ંȺƣૂય ---------- હોઇછે.  
A. 1 x 10 -14 B. 1 x 10 -7 
C. 1 x 10 7 D. 1 x 10 14 

11. 
 0.001M HCl  ની pH  ȵુ ંȺƣૂય _______0.001M HCl ની pH ȵુ ંȺƣૂય_____થાય.  
A. 1 B. 3 
C. 2 D. 4 

12. 

બફર ̃ાવણ એટલે એɂ ુ̃ાવણ ક° Ȑમા ંpH  ______.  

A.  વધે B.  ઘટ°  

C. જળવાય  D.  ઉપર જણાવેલ માથંી એકપણ નથી 

13. 

વીજ રાસાય�ણક કોષમા ં_____ ̆�˲યા થાયછે.   

A.  ઓ�ƈસડ°શન  B. �રડƈશન  

C. તટ�ƨથકરણ  D.  ર°ડોë 

14. 
250c તાપમાને ̆મા�ણત હાઈ˾ોજન ʞવુ ȵ ૂ ંȺƣુય ______ વોƣટ હોયછે.  

A. 1 B. 0 
C. 1.5 D. 2 

15. 

̃ાવણȵુ ંતાપમાન વધારતા આયિનકરણ ____.  

A.  વધે છે B. ઘટ° છે 

C. કોઇ ફ°રફાર થતો નથી  D.  Ƀƛૂય થઇ Ĥયછે  

16. 

એɂુ ંઉપકરણ ક° Ȑમા ં______ શ�ƈતȵુ ંિવɎતુ શ�ƈતમા ંĮપાતંર થાય તેને વીજ રાસાય�ણક કોષ 

કહ°છે.   

A.  યાિં́ક  B. પરમાȰ ુ

C. રાસાય�ણક D.  Ʌયૂ½ શ�ƈત  

17. 
વીજ રાસાય�ણક કોષ માટ° ̆મા�ણત તાપમાન અને દબાણ _____ છે.  
A. 1 atm, 250c  B. 25 atm, 10c 
C. 0 atm,  00c D. 10 atm, 500c 

18. 

ઇલƈ˼ો ટાઇિપ�ગમા ંવાહકતા વધારવા માટ° મીણના ંƞલોક ઉપર ____ પાઉડર નો છટકવામા 

આવેછે.  

A.  હ�રાનો  B. Ɯલે�ટનમ 

C. િસƣવર  D.  ˴ેફાઇટ  

19. 
વાહકતાનો એકમ ______ છે.  
A. ohm B. ohm cm-1 
C. mho D. ohm-1 cm 

20. 

નીચે પૈક� કઇ પƚધતી િવɎતુ િવભાԌયની ઉપયોગીતા નથી. 

A.  ઇલƈ˼ોƜલે�ટ�ગ  B. ઇલƈ˼ો�રફાઇનીગ  

C. ઇલƈ˼ોટાિપ�ગ  D.  ƨ̆પેેઇƛટӄગ 

21. ƨટ�લ વોટર ટ°ƛક મા ંથȱુ ંëારણ ____ ̆કારȵુ ંહોઇછે. 
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A.  �˲વાઇસ(તડ) B. વોટર લાઇન (પાણીનીચે થȱુ)ં 

C. પીટӄગ  D.  ઉપર પકૈ� એકપણ ન�હ�  

22. 

ધાȱȵુ ુ ંëારણ _____ મા ંસૌથી વȴ ુથાયછે. 

A.  અિસ�ડક માƚયમમા ં B. બે�ઝક માƚયમમા ં

C. તટƨથ માƚયમમા ં D.  માƚયમની કોઇ અસર થતી નથી 

23. 
ગેƣવનાઇ�ઝ�ગ એટલે અƛય ધાȱ ુઉપર _____ ધાȱȵુ ુ ંર�ëત પડ.   
A. Sn B. Sb 
C. Ag D. Zn 

24. 

Ⱥળૂ ધાȱનુી બđે બાȩુ એકજ ધાȱȵુ ૂ ંર�ëત મજȸતૂ પડ ચઢાવવાની ̆�˲યાને ____ કહ°વામા ં

આવેછે. 

A.  મેટલ ƨ̆ેӖગ B. શીર°ડાઇઝӄગ 

C. ગેƣવનાઇઝӄગ D.  મેટલ ƈલે�ડ�ગ  

25. 

નીચે પૈક� કȻ ુપ�રબળ ëારણના ંદર ઉપર અસર કરȱ ુનથી .  

A.  ભેજ  B. દબાણ  

C. તાપમાન  D.  pH

26. 

તડમા ંથȱ ુëારણ ȺƉુયƗવે     ________ ભાગે થાયછે.  

A.  બે ધાȱનુા ંજોડાણ ના ંƨથળે   B. પાણીનો સપંક½ થાય છે Ɨયા ં 

C. એિસડ નો સપં½ક થાય Ɨયા  D.  ઉપર પકૈ� એક પણ ન�હ   

27. 
નીચે પૈક� કઈ ધાȱ ુનો આƗમભોગી એનોડ તર�ક° ઉપયોગ થાય છે ?  
A. Zn B. Fe 
C. Ag D. Au 

28. 

જમીનમા ં દટાયેલ ધાȱ ુની વƨȱ ુના રëણ માટ°______  પƚધિત નો ઉપયોગ કરવા મા આવે 

છે    

A.  િવƚȻતુક�ય  પƚધિત  B. આƗમભોગી એનોડ પƚધિત 

C. અધાȱ ુપડ પƚધિત D.  િવજઢોળ પƚધિત 

29. 

નીચેના ંપૈક� ̆ાથિમક બળતણȵુ ં ઉદાહરણ કȻ ુછે?     

A.  અɃƚુધ તેલ  B. કોલગેસ  

C. �ડઝલ   D.  બાવળ નો કોલસો  

30. 

નીચેના ંપૈક� �Ďિતય  બળતણȵુ ં ઉદાહરણ કȻ ુછે?     

A.  લાƈȮુ  B. અɃƚુધ તેલ 

C. Ȣુદરતી ગેસ  D.  ક°રોસીન  

31. 

૧ ˴ામ Ƀƚુધ પાણીના ંતાપમાન મા ં૧0C   તાપમાન મા ં વધારો કરવા આપવી  પડતી ઉƧમા 

ને ____ કહ° છે   

A.  ક°લેર�  B. �કલો ક°લેર�  

C. બી.ટ� .Ȼ.ુ  D.  સી.એચ.Ȼ.ુ  

32. 

બોƠબ ક°લોર� મીટર ની મદદ થી ક°વા ̆કાર ના બળતણȵુ ં ઉƧમીય Ⱥƣૂય શોધી શકાય  

A.  વાȻ ુ B. ̆વાહ�  

C. ઘન ̆વાહ� ȵુ ંિમ̒ણ  D.  ̆વાહ� અને  વાȻȵુ ુ ંિમ̒ણ 

33. બળતણȵુ ંȢૂલ ઉƧમીય Ⱥƣૂય શોધવા  માટ° ȵુ ંɅુ́  ɉ ુછે?   
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A.  Q=(W+w) (T1-T2)/m B. Q=(W+w) (T2-T1)/n 

C. Q=(W+w)(T2-T1)/m D.  Q=(W+w)(T1-T2)/n 

34. 

લાƈડા  માથી કોƣસો બનાવવાનો ̆થમ તƞïો કયો છે?  

A.  પીટ  B. �લƊનાઈટ  

C. �બȬુિમિનયસ  D.  Ӝ̂ેસાઈટ  

35. 

નીચેના ંપૈક� સૌથી ઉĂમ કોલસો કયો છે?  

A.  પીટ B. �લƊનાઈટ 

C. �બȬુિમિનયસ D.  Ӝ̂ેસાઈટ 

36. 
ઉĂમ ̆કારના ં કોલસામા ંકયા તƗવોȵ ુટકાવાર ̆માણ Әȧ ુહોɂ ુજોઈએ?  
A H B O 
C S D N 

37. 

પે˼ો�લયમ ના ંɃ�ુƚધકરણ મા કઈ પƚધિતનો ઉપયોગ કરવામા આવે છે?  

A.  ƨફ�ટક�કરણ  B. િનƨયદંન  

C. િવભાગીય િનƨયદંન D.  ગાળણ  

38. 
પાવર આƣકોહોલ મા ંઆƣકોહોલ ક°ટલા ટકા પે˼ોલ સાથે િમë કરવામા આવે છે? 
A 10-15% B 20-25% 
C 25-30% D 30-35% 

39. 

 LPG વાȻ ુȵ ુગળતર થȱુ ંĤણવા  માટ° કયા વાȻ ુને તેની સાથે િમë કરવામા આવે છે? 

A.  n- ƞȻટુ°ન  B. ̆ોપેન  

C. ƞȻટુ��લન  D.  મરક°Ɯટન  

40. 
નીચેના ંપૈક�  કયો વાȻ ુઓĠ ̆ȳૂષણ ફ°લાવે છે?   
A O2 B Cl2
C H2 D N2 

41. 

ƨનહેકના ઉપયોગમા ંબે સરƈતી સપાટ� વƍચે ઉદભવતો _____ અવરોધ ઓછો કરવા થાય છે? 

A.  ઉƧમીય  B. િવƚȻતુક�ય  

C. ઘષ½ણ   D.  ફરતો  

42. 

નીચે જણાવેલ કાય½ પૈક� કȻ ુકાય½ ƨનેહક કરતો નથી?  

A.  ȱટૂ ĭટ ઓછ�  કરવી  B. આઘાત નરમ બનાવવો  

C. શીતક તર�ક° વત½ɂ ુ D.  ëારને વધારɂ ુ 

43. 

નીચે જણાવેલ ઉપકરણ પૈક� કયા ઉપકરણ મા ંતરળ પડ ƨનેહન થાય છે?  

A.  સીવવાȵ ુમશીન  B. ગીયસ½  

C. કટӄગ Ȭƣૂસ  D.  હ°વી મશીન  

44. 

ર°ƣવેના ં °˼કના સાધંામા ંક°વા ̆કાર ના ƨનેહક નો ઉપયોગ થાય છે?   

A.  ઘન  B. ̆વાહ�  

C. અધ½ ઘન  D.  સાƨંલેિષક  

45. 

નીચે પૈક� કયા સાધન મા ંઓછ� �ƨનƊધતા વાળા ƨનેહકનો  ઉપયોગ થાય છે? 

A.  લેથ  B. કો�˲ટ િમëર  

C. ઘ�ડયાલ  D.  ર°ƣવે °˼કના સાધંા 

46. Ȑ તાપમાને ̆વા�હ ƨનેહકનો ર°લો  ચાલતો  અટક� Ĥય તે  તાપમાનને ƨનેહકȵ ુ___ કહ° છે?  
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A.  અ�Ɗન�બ�ȳુ  B. ભડકા�બ�ȳુ   

C. ȴુ̊ �બ�ȳુ  D.  ર°લો�બ�ȳુ  

47. 

૧ ˴ામ તેલમાથંી સાȸ ુબનાવવા માટ° જĮર� ___ ના િમલી˴ામને તેલ નો સાȸકુરણ ӕક કહ° 

છે 
A NaOH B KOH 
C HCl D HNO3 

48. 

�ƨનƊધતા નો એકમ કયો છે? 

A.  ˴ામ/�લટર  B. �કલો˴ામ/�લટર  

C. પોઈઝ   D.  િમ�લ  

49. 

�ફનોલ ફોમા½ƣડ�હાઈડ ȵુ ંƥયાપા�રક નામ ____ છે  

A.  પો�લƨટાયર�ન B. બેક°લાઈટ  

C. અપો�ëર°�ઝન  D.  ઓરલોન  

50. 

ઓ�ડયો ક°સેટના ંિનમાણ½મા કયા  પો�લમર નો ઉપયોગ થાય છે  ?  

A.  પો�લઈથીલીન  B. પી.વી.સી.  

C. પો�લƨટાયર�ન  D.  ઓરલોન 

51. 

નીચેના પૈક� કȻ ુયોગશીલ બɆઘુટકતાȵુ ંઉદાહરણ છે?  

A.  પો�લƨટાયર�ન B. બેક°લાઈટ  

C. મેલામાઈન  D.  પો�લઈથીલીન 

52. 

નીચેના ંપૈક� કયો Ȥણુધમ½ તાપɅનુƠય Ɯલા�ƨટકમા ંછે?    

A.  ગરમ કરતા નરમ બને અને ઠંȮુ   

કરતા ક�ઠન બને  

B. ગરમ કરતા ંનરમ બનȱ ૂનથી  

C. સઘંનન બɆુઘટકતાિથ બને છે  D.  કાબ½િનક ̃ાવકોમા ંઅ̃ાƥય  છે  

53. 

નીચે જણાવેલ કોષ પૈક� કયો કોષ સોલર સેલȵુ ંઉદાહરણ નથી .  

A.  િનકલ – ક°ડિમયમ કોષ  B. ગે�લયમ આસ±િન�ક સેલ  

C. િસ�લકોન સેલ  D.  ક°ડિમયમ સƣફાઈડ - કોƜપર સƣફાઈડ 

54. 

રસોઇ માટ° ઉપયોગમા ંલેવાતા ંનોન�ƨટક સાધનમા ં____ પોલીમરનો ઉપયોગ થાયછે.  

A.  પો�લƨટાયર�ન B. ટ°ફલોન  

C. પો�લઈથીલીન  D.  પોલીƨટર 

55. 

એપોëી ર°ઝીનȵુ ંƥયાપાર�ક નામ _____ છે.  

A.  ફ°વીકોલ  B. થમҴકોલ  

C. એરƣડાઇટ  D.  રƞબર  

56. 

Ȣુદરતી રƞબર નો એકાકં� અȰ ૂ_______ છે.  

A.  િનયોિ̆ન  B. આઇસો̆ીન  

C. ƞȻટુ°ન  D.  ƨટાયર�ન  

57. 
રƞબરના ંવƣક°નાઇઝેશનમા ંકયો ઘટક ઉમેરવામા ંઆવેછે?  
A.  N B. O 
C. P D.  S 

58. 
પીગલીત ____ મા ંહવા ĭંકવાથી થમҴકોલ ક° Ȑ ફ�ણ Ȑɂ ુનરમ Ɯલ�ƨટક મળેછે. 

A.  પોલીƨટાયર�ન  B. પો�લઈથીલીન 
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C. પોલીƨટર D.  પોલીિવનઇલ ƈલોરઇડ  

59. 

નીચી ઊƧમાવાહકતા ંધરાવતા પદાથҴને _______ કહ°છે.   

A.  િવસવંાહ� પદાથ½  B. અસજંક પદાથ½ 

C. વાહક પદાથ½ D.  અધ½વાહક પદાથ½ 

60. 

નીચેના ંપૈક� કȻ ુસƨંલેિષક રƞબરȵુ ંઉદાહરણ છે ?   

A.  પોલીƨટર  B. બેક°લાઇટ  

C. મેલામાઇન  D.  ȸનુા-એસ  

61. 

રબર ની બનાવટમા ં____ ̆કારની ̆�˲યા થાયછે.  

A.  યોગશીલ  B. સઘંનન  

C. તટ�ƨથકરણ  D.  એ�ƨ˼�ફક°શન   

62. 

ƨવટેરની બનાવટમા ં____ ̆કારના ંƜલા�ƨટકનો ઉપયોગ થાય છે.   

A.  ઓરલોન  B. બેક°લાઇટ  

C. મેલમાઇન  D.  એપોëી ર°ઝીન 

63. 

નીચેનામાથંી કȻ ુઉƗપાદન સઘંનન બɆુઘટƈતાȵુ ંઉદાહરણ છે?   

A.  રƞબર  B. પી. વી . સી 

C. ટ°ફલોન  D.  નાયલોન 66 

64. 

નીચેના પૈક� કȻ ૂ̆ાથિમક કોષȵુ ંઉદાહરણ છે.  

A.    Ni-Cd  કોષ  B. લેડ સં˴ ાહક કોષ 

C. Ʌકૂો કોષ  D.  બળતણ કોષ 

65. 

Ʌકૂા કોષમા ંએનોડ તર�ક° કાયો ઘટક વત±  છે?  

A.  Zn B. MnO2 

C. ˴ેફાઈટ D.  NH4Cl 

66. 

લેડ સં˴ ાહક કોષમા ંિવɎતુ િવભાજય તર�ક° ___ નો ઉપયોગ થાયછે.   

A.  HCl B. HNO3 

C. NaOH D.  H2SO4 

67. 

Ʌકૂા કોષનો પોટ°�ƛશયલ ____ વોƣટ છે.  

A.  2 B. 1.5 

C. 1.4 D.  1 

68. 

અધ½- વાહકોમાથંી બનતો કોષ ____ તર�ક° ઓળખાય છે.   

A.  બળતણ કોષ  B. Ʌકૂો કોષ 

C.   Ni-Cd  કોષ D.  સોલર સેલ  

69. 

બળતણ કોષની ëમતા ક°ટલી છે?  

A.  30-35% B. 50-55% 

C. 70-75% D.  90-95% 

70. 
બળતણ કોષમા ંકયા ઘટક ȵ ૂ ંઓ�ƈસડ°શન થાય છે .  
A.  O2 B. H2 
C. NaOH D.  Pt 

 
************** 


